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. 1
Instructions for the Candidates

1.

Write your Roll Number in the space provided on the top of this page. Write your ICR Answer
Sheet No. in the space provided for Answer Sheet No. on the top of this page.

This paper consists of fifty (50) multiple choice type questions. All questions are compulsory.
Each item has upto four alternative responses marked (A), (B), (C) and (D). The answer shouid
be a capital letter for the selected option. The answer letter should entirely be contained within

the corresponding square.

Correct method A Wrong Method 3 or m

Your responses, to the items for this paper are to be indicated on the Answer Sheet under ‘paper

I only.

Read, instructions given inside carefully.

One sheet is attached at the end of the booklet for rough work.

You should return the test booklet to the -invigilator at the end of paper and should not carry
any paiper with you outside the examination hall. |
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PAPER—I

Note :— Thls paper contains flfty (50) multiple-choice questlons, each carrylng two

(2) marks. Attempt all the questions.

Al o 2 usuai ge w0 agRselly wsdl 8. edsit A o B, ol o aeficdl °b’cll°t 2ALYL.

1-5.

1-5.

The table below shows the number of students admitted to different ‘t:olle_ges
L II, III, IV and V in a particular session in various discipﬁhes. Refer to the

table below to answer the questions 1-5 that follow :

Discipline MBA B.Tech BSc. | B.Com. | BA.

Capacity 200 200 400 | 300 500
Colleges

I 185 | 200 312 281 - 486

II 190 | 183 348 215 | 414

III 198 191 364 291 | 484

v 170 178 290 199 .| 429

v | 167 199 377 916 | 412 |

How many seats in all disciplines taken together are vacant in ‘colleges II and |
1 ?

(A) 278 (B) 322 (C) 612 (D) None of these
What is the approximate difference between the percentage of students admitted
to a discipline in respective colleges showing the lowest admission to B.Sc. and
the highest admission in B.A. ?

(A) 19% B) 25% (C) 34% (D) 29%

- Which of the following colleges has the highest number of vacant seats in

Commerce and Arts discipline ?

A I - (B) I (C) 1V D Vv

What is the difference in the percentage of students admitted in M.B.A. of Colleges
II and IV ? : \

A 10% B 12% ©€) 15% D) 20%

What is the total percentage of seats vacant in college III against its total capacity ?

(A) 6.86% (B) 5.36% (C) 3.92% D) 4.37%

I I, IIT, IV 219 V 3 o€l %8l slaqnd »ls [l el e et s (Qeneflatiq
Aadal u&-uvﬂ ] su[cmm 2 siel 2uuainl 2udd 9. st s3is 1 ol 5 UL Gril wual
WS il Sl GUUdL S
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6-10.

Paper I—C

Discipline | MBA - | BiTech B.Se. B.Com. | BA.
. NLapacity | - 200. ] 200 | 400 300 500
Colleges , . ' :
T 185 200 312 - 281 486
I 1 190 ] 183 | 348 | 215 414
tme 198 191 364 291 484
v | 10 | 118 290 199 429
Voo 167 | 199 317 | 276 | 412

C5idy I A I i ot Rl olou sdi deell dsst s vl vuell 2l © ?

A) 278 - (B) 322 (C) 612 (D) Ail syt Al
ofl . 24400 i HAg)l Rt esiau D) x4, 6(1 al Hi wdul Gdx 2steu 1 ¥ Renluiis
AL ANl B, d & 9AH] el dsiad yedl & 7 :

A 19% (B 25% (C) +34% (D) 29%

‘ ,C{l@h‘?{;t) Q;t;-l [a-mwvu vyl MailBd weifQangal 44 59 sidoui Alefl agy wiell Assl
84 :

A I - ® m - () IV, D) V-

$1A% IT TV i 23603 1 RQvusi udg Anaiz Renelaisll estu M dstad € ?

.(A) 10% .. - B) 12% __- ©) 15% (D) 20%

iAo I i yel ‘Mdu andidl wd vl sl 251l J2dl & ?

(A) 6.86% . (B) 5.36% (C) 3.92% (D) 4.37%

In the following figure, the circle stands for medical students, the ‘square stands
for hardworking, the triangle stands for rural and rectangle stands for affluents.
Study. the figure carefully and for answering the questions that follow pick out .
the Arabic numeral associated with the region.




6. Non-rural and hardworking medical students who are affluent are indicated by
the region :
A 5 B 7 - © 9 D) 10
T Medical students who are neither affluent nor hardworking but are rural are
represented by the region :
A 8 B 10 : © 1 D) 12
8. ‘Hardworking, non-affluent rural medical students are represented by the region :
' A 6 ® 7 © 9 O 12
9. Non-affluent _medical students who are not hardworkmg and who do not belong
to rural areas are represented by the region :
. A 5 B 6 (C) 8 D) 11
10.  Medical students who are affluent, hardworkmg and rural are represented through
the region :
A 6 (B) 8 © 9 (D) 10

6-10. il wda wsi susla . A q@ol ARse Renelloledl Add B, WA H3AdsN-L
W B, Busiar la-l dd 8, doixy driedrll Add 8. suglsil stgpel) e 53

Gl vl W2 & A WgR-RAruMl 3da dadc-t w6l v Al

“,

7. 5
6 9\ |12 .

w
11

6. w018l A HAdsN ARse Qendlall il a-uey 89, d-l R ?{ﬂ.!g[?l—@%dl?.‘ti. PhE

(A) 5 ‘ M) 7 ©C 9 D). 10
7. Svuw A HAricsN Al Rt aeflen Rl e ABse Reuellia Aadl susf-[BraR
A) 8 B) 10 , () 11 (D) 12
8. Hdddsd A darusy Arde R Asa Renll>in adl 2ugl QxR B
(A) 6 B 7 : (C) 9 D) 12
9. Eﬂmm@ﬂ[@m QRenelll % udnasy -l A ¥ ufel Qi yaL Aell, dn aﬂﬁuu iyl
AU y
A 5 (B) 6 ©C 8 - D 11
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10.

6-10.

axtled, Uerdsd A WML AR ABsa Reuell>iA Aladl susl R ©
(A 6 (B) 8 ‘ (C) 9 (D) 10
' (ONLY FOR BLIND CANDIDATES) ,

Read the following passage and indicate the correct answer of the questions
6 to 10. ‘

Rocks which have solidified  directly from molten méterials are caﬂle_d igneous

‘rocks. Igneous rocks are commonly referred to as primary rocks because they

are the original source of material found in sedimentaries and metamorphics.
Igneous rocks compose the greater part of the earth’s crust, but, they are generally
covered at the surface by a relatively thin layer of sedimentary or metamorphic
rocks. Igneous rocks are distinguished by the following characteristics : (1) they

" contain no fossils; (2) they have no regular arrangement of layers; and (3) they

are nearly always made up of crystals.

Sedimentary rocks are composed largely of minute fragments derived from the
disintegration of existing rocks and in some instances from the remains of animals.
As sediments are transported, individual fragments are assorted according to
size. Distinct layers of such sediments are gravels, sand, and clay build up, as
they are deposited by water and occasionally wind. These sedimerits vary in
size with the material and the power of the eroding agent. Sedimentary materials
are laid down in layers called strata. ”

When sediments harden into sedimentary rocks, the names applied to them change
to indicate the change in physical state. Thus, small stones and gravel cemented
together are known as conglomerates; cemented sand becomes sandstone; and
hardened clay becomes shale. In addition to these, other sedimentary rocks such
as limestone frequently result from the deposition of dissolved material. The
ingredient parts are normally precipitated by organic substances, such as shells
of clams or hard skeletons of other marine life. ,

Both igneous and sedimentary rocks may be changed by pressure, heat, solution,
or cementing action. When individual grains from existing rocks tend to deform
and interlock, they are called metamorphic rocks.

The primary purpose of the passage is to :

(A) differentiate between and characterize igneous and sedimentary rocks
(B) define and describe several diverse kinds of rocks

(C) explain why rocks are basic' parts of earth’s structure

(D) explain the factors that may cause rocks to change in form.

The author’s tone in the passage can best be described as :

(A) Bombastic (B) Ironic

(C) Objective _ (D) Concerned
All of the following are sedimentary rocks except :
(A) Sand . (B) Limestone
{(C). Schist - (D) Shale

The passage would be. most likely to appear in a :
(A) Technical article for geologists

- (B) Technical manual accompanying an earth science text

10.

(C) Newspaper feature explaining how oil is found s
(D) * Pamphlet promoting conservation of natural resources

+Which of the following methods is not used by the author ? -

(A) Classification and discussion (B) Comparison and contrast
(C) Cause and effect - (D) Observation and hypothesis

Paper I—C 6




Gua aglasaio Rendlail w2)

6-10. (A0 WWe qial 21 usAsUis 6 Al 10 U Gz duul

10.

o Ml ol adai sedimiall flar AuA3y WAL wsst waeuyull-uss ssay 8.
2 AU ABLS WSSl APl LA sl B; 519 3 5AjUA A gercdl 3uidr
Wl adl wssiHi 2 ey uausl3L eud 9. aouyull wssiHl Hial euet yel
Guall Rl vindl ¢ly 8; uid ddrll AWl wxui sAAUN 2R gecdl FUidRd WSSl
Wl usdl ésida Sl 9. wuarllt vssA Al ouoidigl qad shoreiadii wud
B : (1) u wssni ARMA Sl «dl. () usi-l Rulid a1 A &dl Al 2R (3)
Auill adedl sl wRs3U Sy ). ’ o
SAROUN. WSS oighl suld WSsirL RQatamidl ue Jeals Ay-uaiini welivirl 2adixid
A iy 8; A oMl W geuiri wsidiel A s A B, sAA N wwRNe ol
PN WASIAL 38 O U dvil yas il dou seui Faw ug Slu B, 2 sAU BuANL
wAdl usl »u B : Ada-valail, Adl v 2. well A Wit Yd- gL D s
Y V. g A UURS dedrll WAL UL SAU BUR ol el el st ¢ly §. i AGIAH
gl USIHL A B AN el (Wssl dR) sdani 2ud B, L :
$YAR godl 5881 ot ASIAZ] vissid 34 A &, Ul dAg Uy g s Al sl
alavt vl B, B, il Rl A ya s g3l Asami 2ud B, cud A edlin
(speifa) ollowall a1y viaviy 8, geoianyi AsiAa I »sRUl w2 6 B, A
569 odl Wl il wss o 8. 2 GURid, oflog ASAE wssl, Fau ¥ yrurll ver,
ol odal gsodi-l onazHidl UL wd B, Adl Hessedl ABLAd: AAERS dedid]
al@d ol 2dal i 8. i AWARLS decl M@ eRAS w2l Wluellall aa sRus
well wan-i sisfosi. ‘ , : ,
gollel, AR, aladt adl g ASA-l wBu gL, wamyell 2 ARA2 wssHi 3912
WY 9. eUld wSslL sel [A3Y wadl AsollafA A Au B cwd Al wBamidl =l
wesl A2uifFs vssi aly 2wiavuy 8. . ‘ '

2 YRaeeAl wals &d O : .

Q) wumyyl 2 supUN vss 4Rl A eulad

B) 3eclts [~ usRAL wssiA vl A agl+ 539

(C) SSL yell-l slaRRirl Haoid vl wowR 9, A wuaag

(D) ussiil 3unRad-- sl daddi WRedlll wny 1udl
Auiseil qa@n Al YA Ad 2havudl asy
A) usail o B) asell

(0 wgad | (D) [Frodda

A VLAl 54l wss sAA-OUN WSy el :

@A) -l yeur ‘ (B) Qgtl"l.\l ey
(C) el XEL ARUAL olAdl elRlelz Wss (D) YUl “iSs
WRadedl i Al ay usy ) :

A) ordrwAlall WAl 25Fsd Ay

B) yedll-Qsunri ws A wwdg 2sMsa et

(©  da-diiandl aHigdl 2undl gayatdl dw

(D) - uglas dAwaddi-a A Y$1d. ag-avigl

A2 Yuiell 5§ vl @RAOL Awd sdl Aol ? |

A) s A 2l B) ga- w1 QRia
(C) s A 51 D) [ax w1 ydRgidaen
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11-12.

Complete the number series given below :

11. 320, 320, 160, 40, ? . , ‘
A 4 B 0 C) 5 . (D) 10
12. 1, 5 45, 445, ? . S :
. (A) 4545 . (B) 4445 (C) 5454 ' (D) 4455
11-12. {3 culda Avy-ge2i Yy 530 : |
11.. 320, 320, 160, 40, ?
A 4 ®) 0 (C) 5 (D) 10
12. 1, 5, 45, 445, ? o
g (A) 4545 B) 4445 " (C) 5454 (D) 4455
13-14. Which of the following will come next in the series given below :
13. BHL, DJN, FLP, ?
(A) HNR (B) ‘HOS (C) 108 (D) INR
14. KUZ, MOX, OIV, QET, 7 o B
- (A) SUR (B) SAQ (©) RAR (D) SAR .
13-14.-02-1 Aefi, 1A eulda VAN dd 56 2uqd ? "
13. BHL, DJN, FLP, ? - : o '
(A) - HNR (B) HOS: (C) I0oSs - (D) INR
14. KUZ, MOX, OIV, QET, ? R
(A) SUR (B) SAQ (C) RAR (D) SAR
15-16.In each of the following letter sequences some letters have been left out which
are given as one of the four alternatives. Find the correct alternative in each
case and mark your answer on the answer sheet as mstructed
15. ab.....cha.....bcc.....aab......cha.....b
‘ (A) bbbba (B) cabca (C) caacb ' (D) - babcb ’
16.  ab....abc......... cab............ be......b : :
(A) cabcaa (B) baabbe (C) caaccc - (D) cachea
15-16. 01 tuldet uAs via2-3041 J2aLs el ©ig) 2ami o &, ¥ w2 Rsed VW s
au ealadi 2uda & uds W2 WAl Rsey Wel 1 G v YUl um@t Rl Gur
“lidl
15. ab.....cha.....bcc.....aab......cha......b
- (A) bbbba (B) cabca (C) caacb (D) babcb -
16. ab.....abc.............. cab................ be.....b 4
(A) cabcaa (B) baabbec . (C) caaccc (D) cacbca
\7-18 A cube is pamted red on two opposite faces and green on two adjacent faces.
The remaining two faces are left uncoloured. It is cut into 125 equal cubes. Answer
the questlons from 17 and 18.
Paper I—C ' 8
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11. How many cubes have green colour on one face only ? .
(A) 16 - (B 19 ©)-24° - (D) 0
18. How many cubes are coloured green on two faces ? «
A 2 B & ©C 7 (D) 9

17-18. 95 syot 8. a-ll & el ou@u al ol 3. wd wAwdd & ouall clar Iadl
8. oldl-l 6 ouyil IduL Al B. 125 ALAL 2551 AL SUHL B é e& S ENTIID)
17 @l 18 U G Ul : !

17. - dlan ool As o ouxell deal 540 ud ?

A 16 B 19 . . (C) 24 (D) 40"
18.  dlan Ioraudll & ool deal syu wl? | | o
@A) 2 B) 5 © 7 D) 9

19-20.In the following questions from 19 and 20, find out the digits correspbnding
to the letters representing those digits in the multiplication given below :

6 bec
354d
« _ ‘ " 66e
- : 3330
' l1aas$8
223766
19. ‘b’ stands for :
(A) 6 3 7 C) 8 D) 9
20. ‘c’ stands for : : ‘ '-
A 7 : B 6 ) 5. D) 4

19-20 A us 19 2 20 Hi euldd Rl 2ude isSivid wAMB@ sl v
qRlddl a»ussm el

6bec
35d
6 6e
3330
1 aas8
A 223766
19. ‘D e ® : o :
(A) 6 ®) 7 | (C) 8 D 9
20. ‘¢ We®: C ,
A) 7 ®B) 6 T s (D) 4

Paper I—.—Ci i _ 9 P.T.O.:



» 21-22.In these questmns (from 21 and 22). the following directions have been used:
N (North), E.(East), w (West), NE (North-East), SE (South- East), NW (North-
West), SW (South-West). .

In each of the questions it is 4ssumed that the cardboard ABCD which is square

in shape-and. inside which the square JKLM is inscribed is placed horizontally

. and also reversed. o
In each question two conditions are given :
I.  The cardboard is either reversed or not reversed.
II. The direction of any of the vertices with respect to O is indicated. Find

. out the directions of the other given vertex with respéct to

L J
A B
M| K
D C
L
21. (I) Not reversed (II) A towards S ‘0’ will be in the direction :
Y (A N B W © sw D) NwW
22. (D) Not reversed (II) L towards NE ‘M’ will be in the direction :
@) SE | (B E
© N - | D) S

21-22. % Wl 0 wudA Rl Gydla & —

‘ | i
‘ N (6w2), E (yd), W (uBam), NE (6na-yd), SE (eRR-yd), NW (Ga- wlep),
| SW (e[@e-uBay).

|

2 UAs UM wILW B ¥ AN a,umq, 518618 ABCD 8, A+l i3 Wu JKIM

gl dd § 23 A 2l Bl 209l 8 wA adl Qladl s3a B. tds usi
- Al v 20da B ¢

L ss6ls Qag sauxi a»ucg O 3 Al sami 2y,

Paper I—C 10



L O - dedl adval veusll R salaqii 20ddl 8. Q3 w.g[avu oﬂm L el
vl Rauil il

J ,

A B

D C

, L
21. (D Gaaew Rl 0D A S drs, ‘I B ed :
(A) N ® W “(C) SW (D) NW
22, (D) Gaalew [l dI) L NE a8, ‘M’ [Bwal ¢ : .

(A) SE B) E (C) N (D) S

, - (ONLY FOR BLIND CANDIDATES)
21-22. Establish the relatibnship between the first two items. Find out some relationship
among the choices which follow the pattern of the two items (Q. Nos. 21-22).
21. Room : House : : ,

(A) Chair : Room (B) Roof : Building

(C) .Wheel : Chair , (D) Refrigerator : Kitchen
22, Errors : Inexperience : : '

(A) Skill : Mistake : (B) Training : Economy

(C) Losses : Carelessness (D) Success : Victory

(st QQLRL‘:Q[OL Rensfail w12)
21-22. MM 6L Al QAL Asia L. 4 ngwvﬂ Yol AN Rsedl ade suis Aoid)
el ussuis 21 aﬂ 22.
21, WS g &

(A) vRefl : vis (B) LY : sl
(C) asAg : vl (D) Wdxer : WG

22.  odl : Birvigea ,
(A) slua : oa , C(B) dielld o ssUR
(€) vile : Frsinw | D) &ds : Qo

Paper I—C 11 : "P.T.0.




23.

24.

25.

26-27.

26.

Six- persons L, II, I, IV, V and VI are sitting in a.room. Three of them are
females and three are males. Relation between them is as follows :

I is the father of III

III is the son of II

III is the brother of IV

But IV is not the son of I

V is the nephew of I

VI is the niece of II

Who is the daughter of I ?

A IV E B) VI (C) 1III (D) None of these
L I, III, IV, V 21 VI 2% &9 3QRil zlfs visHi AsL 8. Auirll AR wllall & WA AR
YN 8. Al a2 sl 2 us1d @

I, III «u Rt &

IOI, I Al €53 &

oI, IV «l sus &

g IV, I «il €lsl -2l

V, I i3 8 '

VL I l i &

Il el sia & ?

A 1Iv _ (B) VI (C) III (D) 2unidl mz, “dl
If GOLD is coded as EMJB, then NMPR w1ll be decoded as :

(A) RIOT (B) PORT (C) ROTS (D) PORK

B GOLD il 5is EMJB 8, di NMPR L SiSl G3d il >3 - o

(A) RIOT (B PORT (C) ROTS (D) PORK

"If 6743 is coded as FGDC, then 97285 will be coded as : '

(A) IGBHE (B) RTYSV (C) GVSTU (D) IHCIF

A 6743 <l 515 FGDC 8, dl 97285 +i Sis+il Gya »udl »u : .

(A) IGBHE (B) RTYSV (C) GVSTU (D) IHCIF

At a certain restaurant, above the kitchen door there are small lights arranged
side by side and numbered consequently, left to right from one to four, the light
are used to signal waiters when orders are ready. On a certain shift, there are
exactly five waiters I, 11, I, Iv and V.

(a) to signal I, all the four llghts are 111un{1nated

(b) to signal II, only light one and .two are illuminated

() to signal III, only light one is illuminated S

(d) to signal IV only two, thrée and four are illuminated

(e) to signal V only lights three and four are illuminated

(®  take not working lights as illuminated. ,

If lights two and three both are off then the waiter signalled could be :

A I B I : (C) I D Iv

Paper I—C , 12
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217.

26-27.

If lights one and two. are not working, lights three and four are illuminated
then the signal of which of the waiters given in parenthems might be' signalled.
@, IV, and V)

(A) I only (B) Vonly (C) I and IV D) I, IVand V
As R2AUHL Bt sueu-dll Gu AUl cuSel WA WA olisaqmi wudell 8. Nl wR
2l Sl R gl Rucii sigsil dA 2uldet 8. U8 dulr w cud AT 2Add
Lucl W2 Al Guuiol iy @, suds Wse (al oeell) A w4 Alssuud win Age:A
slu & — I, II, ITI, IV, V.

(@ I9Add suual w2, Wl add uslid s 203 8

C (b)) II A A3d N mé ol udell A oflw Sl usilid seuml 20 8

26.

() III A A3 iudl Hlé ot wddl aude o usiBid sl 2ud ©

(d) . IV 1 A3d uval mé wa oftew, fle i Al eudel usBia sl a»u&
&8

() V A d3d 2unal M2 A ofle 2 Rl el ustlld sl 2ud 8§

® A wadl aufed usilEid i Wy ¥

A Al wA Aiell 6id ASel oia sid U F Aferdl Add B A U S

@ 1 ®) II © m - . D IV

27.

28,

29.

30.

A uddl A oflw add oa €lu, ofle wud Al usilld Clu culd stani
AL sUL A2, vl A A3d ad :

@ IV, s V) : \

@A) I 85 B) V $5d © I\ IV ® LIValV
Select from the following groups, the word that does not belong to the group:
(A) Tin ~ (B) Steel (O TIron - (D) Copper
A ol NAal woe Wl F'Q el A iy :

(A) udRi ® ¥a (C) divis (D) diy

Find the odd one Ol.;t of the following : ‘ |

(A) Truthful (B) Sly ' (C) Virtuous (D) Pensive
Aol vivid el - o |

(A) wAslg (B) M9~ (C) ueyrll (D) [

A watch costs Rs. 800. At what price should a shopkeeper mark up, if after
allowing a discount of 10 per cent on the marked up price, he makes a profit

of 12.5% on the cost price ?

(A) Rs. 950 (B) Rs. 1,000 (C) Rs. 1,250 (D) Rs. 1, 500

A5 ulwadl Fud 3. 800 8. evle[l (Bud W 10% g d4adR gsielR Al wid din
afSua 4 A gareR 12.5% il -8l Hadl ¢ld dl Al 3o Bua dedl ed ?

(A) 3L. 950 (B) 3L 1,000 S (C) 31,250 (D) 3L 1,500

Paper I—C 13 | P.T.O.



31.

32.

33.

34.

In a college level instruction, the purpose of selective admission is to :

(A) debar those who may create problem to the lecturer ‘

(B) ensure equality and justice

(C) screen those who can benefit from higher education ,

(D) increase the revenue of the college through admission tests

Sdorsair oandl, Auwriedll ugl vl &g 2 B :

A) wenust yuuzy o Ay Rendl>ia oisid s3au

B) Al A Al wsfl s1adl ‘ '

(©) GA [naw gl siA cer wad, A3 Wl sizan

D) AW gl $1A% W2 whas qaid] :

A lecturer is planning his/her lecture for a course. Which of the following may

be considered least helpful ? : ‘

(A) deciding the content to be delivered

(B) identifying suitable methodology of presentation

(C) getting information about his/her students’ background

(D) discussing with his/her principal as to what he/she considers to be the
functions of a lecturer ) ,

AHAUS AsiL vy, i 53 8. DAl sy siw Al i Gusias ol wsy ?

A) [avu-arg sl sl w2 )

B)  wMAlZa-l Yiou ugl ~Assl s w2

©€) Reanl>ii-l ofas R wasnl Aaaq w2

(D) weusg sl 9SS w3, AN QA 2w wd wal-RQaen sl W

During classroom teaching interactive sessions should be encouraged because :.
(A) teacher’s job becomes less challenging during such sessions

(B) students’ involvement is enhanced -

(C) teaching is not everybody’s cup of tea R

(D) students should be given some breathing time to learn

@l Qag eBaurt 2ett-uetdl AsAA gt Hag ASA, s1@ 3

B udl Assl g2l Rasd sid sl usstzzy o ©

- B Reaefl20A wAa0] qd 8 : o '

€) Raasnd 5§ edsa ong sl Al ,

(D) [QeuellliA (Broiar w2 disis aHu-oual wuudl ASH

A college or a university should submit itself for evaluation to the National
Assessment and Accreditation Council (NAAC) because :

(A) It is the need of the hour ‘

(B) It will enable it to know its strength and weaknesses

(C) It will justify its existence '

(D) It will help in deciding grants for the college/university -

‘i ARAUA-2 215 AB2aur 5160’ WA Yeuise sl 2 eds Ado 3 yRalidR
Wd dwd] amdl AR, s 3 . .

(A) 2 Ayl wio 8 ' o

B) 2 Weud adl aBa-suloid o as wsd

(C) R Wdirt xRacar welsar Rg 53 asdl

(D) SA%YFARA w2 2rgeiten Fefudi 3 GusRs ol
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35.

317.

38.

39. -

Which' of the following pairs of incentives are likely to strongly motivate the
adolescents ?

(A) Teacher and parents’ approval

(B) Certificates and academic honours

(C) Peer and compeer approval

(D) Principal and teachers’ encouragement o

A1 Weussi-i Assi UL s Asg Buirid woa Ad Auens ol usd

A [@as 29 udlfdaedl sgudl- (B) WLl A Aal@s A-dusil

(C) Aol-well-l wigudl D) u] A [Qasi glal MiusH

The office of a Chief Proctor in a university has justification because :

(A) There are a number of proctors in ‘a university

(B) The university ordinance requires it to be so

(C) Students’ activities/programmes need regulatory control

(D) Students are generally unruly and need control

yRafidaui yvy Rid-2aRn- ooud 2R 8, s 3 :

A) YRR 25 Rra-vEa0 g 8

(B)  afad-wBRuyn g0z 2 %30 €l §

(€) {aeuellai-l uqfrxiysidsiig Maudrur Qe 32 8

(D) [Qeneflall A osioydisidl el © A Al Rl %32 W ]

Which research focusses on improvement of work situations ?

(A) Fundamental Research (B) Applied Research -

(C) Survey Resgearch . . (D) Action Research

sidotd WRRURQIAL Yauew w2 sy gdiad 2N Heed 200 S ?

(A) s Anjas (B) Mysct dalgn

(C) udam Aia- ' (D) Buics Asdian

The need for sampling in research arises because :

(A) It is economical B) It is time-saving :

(C) It improves accuracy of results (D) All_the above considerations hold
Aganmi Al wBEadl #32 Gloll iy 8, s 3 :

(A) 2 535UAIY B . (B) A uqrowdd

(C©) wRRuMi-l AsuS YR 8 (D) Gua+dl aell [Queusil @y v 8

A researcher has collected data in form of cross breaks by setting up a
2 x 3 table in terms of frequency counts. Which of the following tests will be
most appropriate for arriving at an appropriate analysis ?

(A) Parametric tests

(B) Non-parametric tests ~ -

(C) Both parametric and non-parametric tests ,

(D) Logical tests o . N
2l wlRoer- e 2x3 Al s sz Aaiad sum-wusll Al s3cdl 8. dioy
Yassl sl W (A VAL 5§ DA Aell ag Guysa w4 ?

@A) YRBd wWlae B) >ylRHd ylaw

(©) WREAA-A§URAA Gon wasr (D) dul¥s udlaw

In reporting research findings-the main purpose should be to :

(A) meet the sponsorer’s expectations

(B) help other researchers '

(C) attract public attention

(D) highlight the factual position ‘ N

dgia-wReuMiAL Adad }tzgﬁt sl Yy &g sldl A2 —

(A) ysaldl 22au Acin (B) =y AdiasA Hge3y g

C(C) MeR UM, Bud g (D) sflsaline Rafan usianl ysdl
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41-42, Select the word that is the neareét equivalent to the capitalized word :
41. ABDICATE :

(A) Plead (B) Censure (C) Renounce (D) Abolish
42. SHAM : |
(A) Lovable (B) Pretence (C) QGuilty (D) Jittery

41-42.1i2l 2™ 91la toel vw[%svu wuel woe QA wdie s
41 ouélcnm :

@A) YAl (B) susl - - (C). »ulRus (D) ~uoe
42. ws : ' o :
A wg (B) wvuis ©) vl D) 4

43. In arriving at knowledge through the method of research, which of the following
combinations is most approprlate ? : » ~
"(A) Authority + Inductive reasoning (B) Experience + Deductlve reasonmg
(C) Creativity + Deductive reasoning (D) Inductive + Deductive reasoning

ACTEICETRMTI T | AUl sl w2 A sty sy sy el qg Gugsa

D7
(A) At + dUAHA oS A (B) vg™a + F‘tOl‘H a5
(C) u%Fsdl + [Raun df D) W + [ df

44-45.The words against the Arabic numerals have a certain relationship with each

other. Select the lettered pair wherein the words have the closest relationship

to that of numbered pau' - |
44. Information : Feedback : : ..... ' : |

’ \

(A) Gun : Recoil (B) Letter : Reply

(C) Action : Reaction- : - (D) Aborigines : Boomerang ,
- 45.  Activate : Detonate : : .......... /

(A) Inform : Deform : ,(B) Engage : Disengage

(C) Quicken : Mutilate (D) Deaden : Diffuse

44-45. 3100 Aviviil ARAL AOEIAL s USRAL YRR Asiy V. AvUlUAS @nlzﬂ VBRAUAS
il Al ws-il w»m ealladl e wie s : j
44, MR : yaMauq : L N |

(A) oigs : Uldes : | (B) Wi BdR .
©) BGw:ulBu : (D) 2R : L 5R WR aadl 4 |
45.  ulBu sd : [sle sral 10 ;
(A) wouag : [Qgd sg : B) 5 @dusq : siuidl el 59 1
(C) et yrel : vildd 59 (D) dderyrd 539 : A[Au 59 }
|

46-50.Read the passage given below and answer the questions 46 to 50 :
Competition the world over is slowly becoming a lethal agent in killing the
regenerative process among human beings. This is happening through a vicious
cycle of anxiety-tension-stress-depression-nervous breakdown. The problem
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percolates to the entire human structure touching health of the body, mind and

spirit. To prepare a sound mind in a sbund body is a coveted definition of education.

But in the present life-cycle dynamics everything seems to explode. More so
for those aspiring to be competitive winners irrespective of the field, the killer
instinct is soon becoming a self killing process. Much has been spoken and written
about the evil effects of stress and its psychosomatic repercussions. Many so-
lutions have been offered by counselling agencies across the globe—some bor-
dering on spiritual remedies, while large chunk depending upon psychiatric-
psychic process. Many have also recommended physical activity to control stress

‘and depression. However, an integrated approach to life management programme

in the competitive environment could probably be the most easy and efficient

- course of remedy. But what is not clearly taken into reckoning is the fact that

the body, the mind and the spirit all the three together form an individual and
therefore, the health of each of these three components is equally important
and has a separate ex1stence, For instance, when the mind is disturbed, thereby
creatmg unhealthiness in the 1nte11ectual-emotlonal plane, the body despite being
in absolute physical comfort still gets affected and is often the victim. Therefore,

‘it is necessary to understand fear and conquer it at the first place in order

to arrest spread of anxiety, stress, tension and depressmn

46. Basic objective of this passage is to project :
(A) - Ways of remaining healthy (B) Avoidance of anxiety
(C) Avoidance of_" competitive spirit (D) Causes’ of mental ill health
47.  After going through this passage, two premises come up. You are to indicate
which is right. ’ v |
I.  Anxiety leads to nervous breakdown
II.  Stress has evil. effects on health , ‘ »
(A) I is right and II is wrong (B) I is wrong and II is right
(C) I and II both are right (D) I and II both are wroné
48. The whole passage is structured in the form which may be called :
(A) Narrative (B) Explanatory
(C) Analytical (D) Expository
49. The most appropriate title for the passage would be :
(A) Evil effects of competition .. (B) Managing good health
(C) Overcoming stress - (D) Managing good living |
50. In the passage the words ‘Disturbed Mind’ can be suitably replaced by the words :
(A) Activated Mind (B) Agitated Mind
) (C) Unhealthy Mind ' (D) Anxious Mind
~ Paper I—C ‘ 17 ' T P.T.O.



46-50. A WRWe iyl A U 545 46 4 50 L Gul U}

wal, Reaeyl A €A As mds dea ol A4 8. Ueraanl YeuGewes A
d gnirl 521 ¢ B, Rldi—dvua—estia—sditl—u-igid-l 3l ada a2 it e+l werl
adl Rl 8. v WA Audl #dl 2R, Ul AR vUAUAL YA WA AA Hgal
AAAUA 28l AU B | ‘U a1 gl o Uid U4 AR 539’ Al Qe weisasedl
eyl 8. UG ANd Dax-l aAfRR eds axgrl 1A 3 Qe uF & | Sdusl &
udle Ry erasian 4uddl sl wdgedlai-d cuoanui w0 RAN wy B, wadl 9k
sucHsclll UBuL asull yaas oy 8. wdARs eouardl gRA A A d-uell adl
%eiont Bru -l 21 QA vor ol & s avy ya 8. ABas wRANN Aete-iezil
gl gew Yol wa sala © — Jeals 2enfds Youdl B, dl W2t eudt wiRBRs-
WA wEA 4R vadRd 9. uul wdleenad sqal saL W2 RS uqRi-l
uRL ottt 53l 8. A3 19di, UlAgrgleats Hsianl art-uoiaq stlsu-l As wHFdd 2R
o Aell AW 2 FAN GUAR Adct: ol AsA. U, UL, HeL B UL — B AD
YOl Ul3d oinell 8, 21 el 20 AR UAs u2sd oA ANANAG Heway ®; ual:xg '
yus iR B. Gele@ Y, d A Rgos G A AN 512 ofd A @Rl dxtui
it lourdl Rl wudl €l cu? ¥l A dgad Gl dl wa 9l uR Al wRiR Wy
A A drl Qs wa wellak ol 43 8. ddl ey siavidl A @33 B A uAN doisd
o WA Held 3 Adl A, ¥l Ria, gold, dRud A edindl aadl uél AslA.

46. U §5A-l 4 &g 2 eulacu-dl ) :
@A) ARPI W Gl B) Rl Gua
(©) ARgwgR-l Gl D) Hr&goucuvti 20l
47. a»u 5520 diddl A Al GwRll 2d B. &y At ug ®a cnuz ealqald @
C 1 Ridy weilsiosy [Ruedl Ralsd af au 9.
II :eoiarl Y R gwmeudl wu wy B,
A) Tug S v II wig 8 B) TwE® v II ug &
(C) I wAII6id Wi ® ' (D) T 3 I oA wiel &
48, gsu+l ofuelldl A sél ASY ¢ '
(A)  salALs ~ | (B) cdlvdlens
©) [RsAveuHs D) RaeueLs
49. s GRA els 20 el w3 ¢
A) W qRu-dl gueudl »ui (B) dgudl-l ey |
(©) soua-Rara (D) YUY Dl woig
50.  gsuMi udlwda ‘Tagea s’ we w2 QA il awameﬂ Glad asel.
TR .
A) uldu u- (B) Ge3uug |+
(C) ~ugRRd U+ D) Gys U
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